eraxx 1 lapax 1 -35,92m2
['apax 2 - 34,28Mm2




_ eTak 2 An. 2 - 86,90m2

IJJI_




. Anm. 5 - 81,10m2
CTaX AmL 6 - 86,19Mm2

BankoH=- 3.3 ka.m
nog- TepakoTa |

1= N ®ee = 8 8 )
— NBarj. We- 3.8 0 ||l = =
3 - TepaKkoTa —m
= TeHW- hafHe et @
TABAH- NATEKC 2
CnanHa- 15 KB, C ['[ o
prirtesl ) 2 @ 355
CTEHW- NATEKE I
T_m l | I Xon- 24,3 KB.M
=i . AHTpe- 2.7 KB.M ::rg,; :—Enfmm
g s 8 2 BaH= NATEKC
CTEHW- NAaTEKC =N = Ta nare
TAEAH- NATEKE
- ' f

iy

ol 187

J=od

360 n.5-/81,10 ke.m
A i[ ]

l l —_—

e |
([
—

nlﬁ- 6,79 Kep.m

nog- TepakoTa

BankoH- 3,3 KE.M

3225
o o AxTpe- 3,3 kB.M _— 310
g A o | nog- TepakoTa
CTEHW- NaTEKE - N
TaBaH- NaTeKs 5
250
T
Cnanus- 14,8 k8 m I d bl :In{:;— Egﬁg:.m
LN e A
TapaH- naTekc TaBaH- NaTeks
Bawn, WC- 4,1 k8
o nog- TepakoTa I
= / eHu- (pan 2
il [z A QU L1l ool T4l :
7
' g A o/ G \

— |




ETaXK D An. 7 -57,69m2

Am. 8 - 79.48m2

\



http://www.tcpdf.org

